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sys
UL AAY(ZLE)
eI 2| (etel: =3
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
obg 9,796 x1H+27 Al 2hx 128 x1.051 3,336
S10= 8,312 x 1H 27 Al 2+ 12& x1.051 2,831
o7g 7,457 x3B+27 A 2+ 123 x1.051 7,618
=8= 6,682 x2H+27 Al 2 x 123 x1.051 4,551
©9g 5,993 x 1 *27 Al 2 x 123 x 1,051 2,041
O&AZ 130,000 8H 12 12,480
Oounst: 12,240
obg 140,000 x1H +12& 1,680
S= 130,000 «4H «12& 6,240
o8z 120,000 «3H <128 4,320
204 AR H 13,680 15,060 A~ 1,380
02 Mg E2XH 13,680 13,260 420
(OFSF=J-sES 13,680
obs 250,000 x1H+12& 3,000
o6z 155,000 x1H +12& 1,860
o7g 140,000& «3H 123 5,040
°8=~92 105,000& 3«12 3,780
28 40,296 30,976 9,320
MIIZ22ZHI 40,296 30,976 9,320
201 Y2y 5,536 5,536 0
01 AR 22 5,536 5,536 0
ORAM2 =&Hl 440,000 8 3,520
oJ12g S EHl  7,000& *x34 8L+ 12 2,016
202 O4Hl 23,040 23,040 0
01 =Wl 23,040 23,040 0
OJl=ge=8 o4l 240,000 x8H 12 23,040
203 R4l 9,920 0 9,920
01 JI22F L= 6,600 0 6,600
Oos% 6,600,000& x1H 6,600
02 HAINMMHRF=EHI 320 0 320
(OFSE_PAPIFSES, 40,000 x8H 320
04 RA2ILRFLH 3,000 0 3,000
ORNMZE2H 250,000 128 3,000
204 MR HH 1,800 0 1,800
01 ZMZRasAY| 1,800 0 1,800
OXNHIADLHAY] 1,800
o5z (I E) 150,000 x1H +12& 1,800




2N SBS
M FOINGXIINLHSBE)
Sl HEE FOIME B XN (S5l &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
szs 193,083 85,427 7,656
Al 18,275
2 174,808
FOIRRII L ST E) 91,313 89, 125 2,188
Al 18,275
2 73,08
WRE FOMEH B#E E4 9,678 8,870 808
A28 BASY 9,678 8,870 808
201 Lty 9,678 8,870 808
02 222l 9,678 8,870 808
O2HR3 130,0002 122 1,560
ORI 330,0002 128 3,960
O - 5t+£23 57,0002 *6 2 942
OOlEXEER 68,0002 *1CH 68
ORE BAMARLS 60,0008 x23] 120
ORUTBYIAIAE 100,000% 122 1,200
oE [ETEINE-] 19,0002 ¥122 228
OO0IER S| 50,0002 122 600
OSARIZR XY 1,000,0002 1,000
=0IN%E 2 74,660 73,780 880
Al 16,000
2 58,660
RIRNE 23 3,840 2,960 880
201 LByl 3,840 2,960 880
01 Attt 3,840 2,960 880
ORIRME 23 Ml 1,800,0002 1,800
OSEzgw2Il |24 170,008 128 2,040
ZoIxxisl 2aat 2,000 2,000 0
201 Lty 2,000 2,000 0
01 Attt 2,000 2,000 0
OFUNXALE 5l9 &4 2
20,0002 *20 x5 2,000
ZOITKE ZRIY 2 20,000 20,000 0
Al 16,000
2 4,000
201 LBty 3,000 3,000 0
Al 2,250
2 750
01 Ar22relb| 3,000 3,000 0
OFNxE 29 3,000,0002 3,000
Al 2,250
2 750
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SN SBE
Y FOUXXDI2LSHS)
&t JiRotd etME sUHl S| AR
S HE - S(EH) - NRAY - BES sk oy S 2
0f 4 o
QX EYAT A 2,275 2,275 0
Al 2,275
206 T H 2,275 2,275 0
Al 2,275
01 Mz bl 2,275 2,275 0
og9aE = 2,275,000& 2,275
Al 2,275
HE2IHH(SZS) 101,770 96,302 5,468
QI 2 57,974 67,726 A9,752
FAEE A2AY| 57,974 67,726 N9,752
101 Q1 Z4H| 44,714 43,738 976
01 2 44,714 43,738 976
OAzZte 22+ 20,114
obg 9,796 x 127 Al 2 x 123 x 1,051 3,336
S= 8,312& x1H+27 Al 2hx 128 x1.051 2,831
o7g 7,457 x2B 27 N 2+ 128 x1.051 5,079
=8 6,682 x3H +27 Al 2+ 12 x1.051 6,827
=9 5,993 x 1 +27 Al 2hx 128 x1.051 2,041
OZ M GAHI 130,000 «8H «12& 12,480
Ousg2=Hl 12,120
obg 140,000 x1H « 122 1,680
obE~7a 130,000& 3 122 4,680
=8=0l|at 120,000& x4 H « 128 5,760
204 A=A 13,260 15,060 21,800
02 M2 13,260 13,260 0
O&gE=xH 13,260
obg 250,000& 18~ 123 3,000
S= 155,000 x1E «12& 1,860
o7g 140,000& x2H 12 3,360
=8=2~9= 105,000 x4 »12& 5,040
4l 43,796 28,576 15,220
MIlZ2ZHl 43,796 28,576 15,220
201 LetH| 5,536 5,536 0
01 AtER22/Hl 5,536 5,536 0
ORNM2ZE JI2 =24 440,000 8 3,520
OJlzg SR S&Hl 7,000%*34!+8H+123 2,016
202 O4Hl 23,040 23,040 0
01 =Yl 23,040 23,040 0
O=U0tl 240,000 8H 12 23,040
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M HES
M FOUXXD|IB2S(UNES)
ol BRE ZOIME B2 XA CEER-E)
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
HEs 233,770 238,770 25,000
Al 20,325
- 213,445

FOURXDIBHZSHUHES) 125,353 129,596 AN4,243
Al 20,325
- 105,028

PHE FRIHH 2#F T4 15,648 17,441 21,793

2E IMN2FE 15,648 17,441 21,793

201 LetEIH| 12,648 12,441 207

02 =234l 12,648 12,441 207
OoRERS3 150,000& x12& 1,800
oXMIIe3 390,000& <128 4,680
O4,ot=Ex= 110,0002 «6 & 660
OXt= XAl 30,0003 =1CH 30
OkXtsxt B2 396, 0003 *1CH 396
O0lEgax BE8& 68,000 +1CH 68
OXtsxt eFNEREE = 80,000& *23| 160
Oz M RE=3 55,000& *23] 110
ORI TEHAAE 100,000& x12& 1,200
O3AoIE TVl = 10,000& = 12& 120
OdUlss 400,000& 400
O3Ex S ALl 100,000 *1CH*123 1,200
O0IEXt RXYI 27,0002 «1CH« 122 324
(OFal—2=PN|=] 1,500,000& 1,500

401 A &HIZL 2048 3,000 5,000 A2,000

01 Al&H| 3,000 5,000 A2,000
OS At S8 3,000,000& 3,000

FUXXE 29 102,080 104,730 A 2,650
Al 18,000
- 84,080

UANMF g2 2,100 4,750 A2,650

201 LBt 1,500 1,400 100

01 AFR 22l 1,500 1,400 100
ORANE = MZH 1,500,000& 1,500

405 KH&HFE SHI 600 3,350 AN2,750

01 T ESSHSHI 600 3,350 A2,750
O=ZelgIl 600,000 *1CH 600

FOXXE 43t 2,000 2,000 0

201 LBt A 2,000 2,000 0

01 AtS 22l 2,000 2,000 0




2H: HES
M FOIXXI DI e ST
el ZOIXAE 2 e
S . A . CS H) - HIE A =) A} OH &EIE ot
O8I XX & 20,0003 x25H 43| 2,000
FOXXE T2 29 24,000 24,000 0
Al 18,000
- 6,000
201 LBty 5,000 5,000 0
Al 3,750
- 1,250
01 AtSR2t2ldl 5,000 5,000 0
O=x0RXXxz 29 5,000,000 5,000
Al 3,750
- 1,250
301 LEEAZ 18,000 18,000 0
Al 13,500
- 4,500
12 JIEt243 18,000 18,000 0
O=F0IRtX 16,000,000& 16,000
Al 12,000
- 4,000
O=F0IXtX &l ¢
2,000,000 2,000
Al 1,500
- 500
405 KtaFESH 1,000 1,000 0
Al 750
- 250
01 HML2SF 1,000 1,000 0
O=F0IRtX 1,000,000& 1,000
Al 750
- 250
s. BTN 29 73,980 73,980 0
301 LEtEAZ 73,980 73,980 0
05 &-2-Eas2a83 73,980 73,980 0
(OF=F< = 68,880
ollg=sY 200,000 «21H 123 50,400
SRS 200,000& 21 x23| 8,400
oo E&AE 20,0003 x21H »23| 12 10,080
Oot&Esg 25,000& 1029 23] 5,100
ISt otMSE SUl BHED| 7,625 7,425 200
Al 2,325
- 5,300
HZs 02 800 1,100 A300
201 23y 800 1,100 A300
01 AtR2t2ld 800 1,100 A 300
Oo3Es 500,000& 500
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FA UHES

M FOUXXDI2S(HES)
el JHRBID QHFE Sl BHSD (el & 2
SN S(B) - NRAY - B2 O] &k o8 Bl =2
0l &
O0fMgt 2tel 2357 300, 000& 300
HA.&dgEel= 0t 30| 3,500 3,000 500
301 L2 AZ 3,500 3,000 500
04 NHELHUHI S 1,500 1,000 500
OXNsSLHUHA 23l 1,500,000& 1,500
12 JIEtEA S 2,000 2,000 0
OMOISZYUR 24 2,000,000& 2,000
=0t XA 1,000 1,000 0
301 LEtB 4= 1,000 1,000 0
10 ALAHIE &= 1,000 1,000 0
OM= - S3tAL Z0 A+ At 1,000,000& 1,000
FOESYAHI 2,325 2,325 0
Al 2,325
206 M=H| 2,325 2,325 0
Al 2,325
01 M=H| 2,325 2,325 0
OgaAE RFUl S 2,325,000 2,325
Al 2,325
HY2AHH(HES) 108,417 109,174 NT57
ol eyl 64,509 76,226 AN,T17
FAEE A2 64,509 76,226 A11,717
101 Q14| 49,989 49,922 67
01 = 49,989 49,922 67
OAZIZ2E 22,389
obg 9,796 x 1 *27 Al 2k x 12 x 1,051 3,336
S= 8,312& x 1H «27 A| 2kx12& 1,051 2,831
o7g 7,457 +x2B 27 A 2+ 123 x1.051 5,079
=8 6,682 x4Z x27 A| 2hx 12 x1.051 9,102
S = 5,993 x 1H+27 Al 2 x 123 x1.051 2,041
OZ M gAH| 130,000& 9 123 14,040
QusSE x| 13,560
obg 140,000 x1H + 1228 1,680
ocbE~7a 130,000& 3+ 12& 4,680
=8=~9= 120,000 x4 » 123 5,760
=J|s88~108 120,000 «1H <128 1,440
204 HNRHAH| 14,520 17,340 A2,820
02 A2 14,520 15,540 21,020
O ZE x| 14,520
obg 250,000 x1H«12& 3,000
S 155,000 x1H +12& 1,860
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2N HES
M HY2AAH(HES)
Chel: olze o (crel M
SA-ZH-EA(SH) - MEAD - BES Ol &+ oH %ggf; HDZ2
o7s 140,000& x2H 122 3,360
=8=~93 105,000 x5H 12 6,300
Jl=& 4l 43,908 32,948 10,960
FMII=23HI 43,908 32,948 10,960
201 Lure | 6,228 6,228 0
01 AtSR22/Hl 6,228 6,228 0
OFN2ZE JlEz=2H| 440,000& 9 3,960
OJ2Y@48 Sl 7,0008 «34x9% <128 2,268
202 O4Hl 25,920 25,920 0
01 =Yl 25,920 25,920 0
OJl2g =0 240,000& 9 1201 & 25,920
203 PeETH| 9,960 0 9,960
01 JI22IHRF4] 6,600 0 6,600
os¥ 6,600,000 1 6,600
02 HRAIAYSETY| 360 0 360
OXE A& 40,000& x9H 360
04 BEASIHFFEHI 3,000 0 3,000
ORMNZA 2 250,000& «12& 3,000
204 XA 1,800 0 1,800
01 MG PR HH| 1,800 0 1,800
OXZ Y24 A| 1,800
obg 150,000& x1H ~12& 1,800
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SM: 245
I FOXX JIE YBH(2BES)
Chel BHE FOIME BATY S E )
SN S2AA) - MRAY - BES Ak o dE= o
O &F 24
24+ 385,467 72,160
Al 18,525
- 336,942
FORX OIEE BIH(E+S) 233,785 68,885
Al 18,525
- 215,260
s FLUHEH B#BXH 81,240 68,585
d2e AZ S 81,240 68,585
201 &et=3yl 16,680 4,025
01 At=2teld 4,500 4,500
OUEHA HEA 2,500,000 2,500
OU=ZA OIAF HIE 2,000,000& 2,000
02 s==3H 12,180 AA4T5
OoReR=a 250,000 x12& 3,000
o&JIgs=s 280,000 x12& 3,360
OXtS XHAl 40,0002 = 1CH 40
Odot=E 23 35,000 122 420
OztsxtEd s 396,000 «1CH 396
OO0IEX 285 68,000% *2CH 136
OXSA etdNudFE= 55,0008 *22l 110
Oze aFMd=da 65,0008 *22! 130
ORUBHITIAIAE 10,0002 * 122 1,200
OAOIETV =tz 19,0008 * 122 228
dUSR 600,000 600
Oz=x =l 100,000 122 1,200
OO0lIZx =l 30,000 122 360
Od= NE= =Atl 1,000,000& 1,000
401 Al&HI LTI 22,400 22,400
01 Al&2HI 22,400 22,400
OdE 245 FOUNXIHE 20,100
oxE ot 50,0002 *20K 1,000
oS HA 1,800,000 =14 1,800
ocsd+sH 1,500,000 =14 1,500
o)|ZHEH(SHY) 1,800,000 * 14| 1,800
oZHE (SAHHE) 2,500,000 =14 2,500
o AR A SHE 5,000,000 14 5,000
c=801E 5,000,000& =14 5,000
ocHAd= 1,500,000 =14 1,500
Oslzs 2I14 4= 800,000& *14] 800
Osta=(2Uan) 1,500,000 =14 1,500
405 K&k SHI 42,160 42,160
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SN BAS
Ha: FUIKA OIY YSH(ELE)
ol FOINXIE 29
_ _ HE T
N33 S2(3H) - MEAMY - BES Aol '@E%
201 Y2y 2,500 2,500
01 AlR22lY 2,500 2,500
OZBIRKIARS] BALY 20,0008 +25% +53] 2,500
PIXtXIE T2 22,000 22,000
Al 16,000
2 6,000
201 Yere o 6,000 6,000
Al 4,363
2 1,637
01 ALl 6,000 6,000
OF0RE 2Y 6,000, 0002 6,000
Al 4,363
2 1,637
301 YerBAZ 14,000 14,000
Al 10,181
2 3,819
12 JIEtR A2 14,000 14,000
OXQIRXIE 29 BASY 10,500, 0002 10,500
Al 7,636
2 2,864
OZOIRXIS RASAR bl 4
3,500,000 3,500
Al 2,545
2 955
401 AISHIL 2] 1,000 1,000
Al 727
2 273
01 Al&t| 1,000 1,000
OZBIRAIE 29 A& 1,000,000 1,000
Al 727
3 273
405 RHAHF S 1,000 1,000
Al 729
2 271
01 XA LS EF S| 1,000 1,000
OZ0IRAE 29 257 1,000,000 1,000
Al 729
2 271
S uEH 29 118,820 118,820
301 Yere a3 118,820 118,820
05 S-2-rnEsS2N2 118,820 118,820
OSB+Y 111,520
ollz4y 200,00021 *3424 122 81,600
SN 20000021 x342 23| 13,600
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SN BAS
Hm: ZOITR Ol AE(HAE)
o FLUXXZ 2 (&9 HM
SH-EH . O3 - MBAY - BAS 0l aF ol Soe HRZ2
o3 FA LY 20,000 x34H x23| x12& 16,320
Osrd g 25,000 146X *23| 7,300
JHRGtD oA E SUY = 7,725 7,525 200
Al 2,525
- 5,200
HZE 0288 =4 500 800 A 300
201 Bt2ad| 500 800 A 300
01 At22tell 500 800 A 300
O=202SFANES 500,000& 500
HE - AEHE = 02070 3,700 3,200 500
301 et A= 3,700 3,200 500
04 M2 YHUHSIH] 1,500 1,000 500
OXtsgdd 29| 1,500,000& 1,500
12 JIEt2 A2 2,200 2,200 0
OMNOISeYHa 24t 2,200,000& 2,200
OIS X & 1,000 1,000 0
301 2EtEAZ 1,000 1,000 0
10 HAIAHIEA 1,000 1,000 0
ON= - 23HAF EFOHAH A H| 1,000,000& 1,000
F0IXE 49t X 2,525 2,525 0
Al 2,525
206 T2 H| 2,525 2,525 0
Al 2,525
01 M=Hl 2,525 2,525 0
Ot &H| JIMM (S FHI) 2,525,000& 2,525
Al 2,525
HMSHAAH (BE4S) 121,682 118,407 3,275
ol 2HH| 74,162 82,687 A8,525
SN2Y o2 74,162 82,687 ~8,525
101 @1 24H| 56,942 55,087 1,855
01 2% 56,942 55,087 1,855
OAZHZ2Y 25,982
obhg 9,796 *1H *x27 Al 2tx12& x1.051 3,336
Y= 8,312 »2H x27 Al 2tx12& x1.051 5,661
org 7,457 3 x4 27 Al 2Hx 128 x1.051 10, 158
o83 6,682 *x3H *x27 Al 2tx12& x1.051 6,827
Od Mz A 130,000 *10Y¥ «12& 15,600
OunsE=2=xH 15,360
obhg 140,000& x1H = 12& 1,680
ocbaz~T= 130,000 *5H x12& 7,800
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SN BAS
HH: NS YA (PAS)
chel: ol 2oy (el @g
SAH-HH . () - MBEAY - BHA2 Aol dd = HRS2
0 &+ 08
o8z 0l ot 120,000& x3¥ =12 4,320
oJllsig~T=2 130,000& x1H = 12& 1,560
204 AR EH| 17,220 18,600 A 1,380
02 32X 17,220 16,800 420
OxgE2 x| 17,220
obzg 250,000& x 1 =128 3,000
o6z 155,000& x2H =12 3,720
o7z 140,000& x4 H =12 6,720
o8=~9= 105,000& x3H x 122 3,780
4dH 47,520 35,720 11,800
NPAR=E ] 47,520 35,720 11,800
201 B3| 6,920 6,920 0
01 At22teldl 6,920 6,920 0
ORMEY JI2+sH| 440,000& *10H 4,400
OJI2gRa ZEHl 7,000& *34x10H «12& 2,520
202 4 i 28,800 28,800 0
01 =20 HI 28,800 28,800 0
OJI2g2+8 bl 240,000& x10H ~12& 28,800
203 YR =] 10,000 0 10,000
01 J|22I YR F=&H| 6,600 0 6,600
os% 6,600,000 *1H 6,600
02 HJAIMNMH =AY 400 0 400
O&& A& & 40,000& x10¥ 400
04 2EASIEYRFEHI 3,000 0 3,000
ORM 2&EY 250,000& x12& 3,000
204 X P A 1,800 0 1,800
01 NHZHRHZ Y| 1,800 0 1,800
ONHMZ J248 A 1,800
obhZ3(J|&2E) 150,000& » 1« 12& 1,800
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SN RES
3 XXl Dler 23S
el BB FOIME B
HE . O (BH) - NRAY - BYS Ak e
o 220,282
Al 18,325
- 201,957
= Bt 23 RES) 122,481
Al 18,325
- 104,156
PHE FRIHYH 23 X 10,796
2 EAI2ZE 10,796
201 LetEIH| 10,796
01 AFR22lH| 1,074
OsdJ 84 === 80,000& »12& 960
O&dIl HIIEBAN =22 114,000& 114
232 &l 9,722
OoRER= 123,500 «12& 1,482
O&IIR= 351,000& «12& 4,212
O3 40,0003 x12& 480
OOIEXEE = 90,0002 «1CH 90
(OFab—2= b Pl == 25,000 *23] 50
SOETZHIAIAE 100,000& = 12& 1,200
OAoIETY == 19,000& «12& 228
OO0IEXt ZHl. = Xdl 40,0003 x12& 480
Oz=2 SAlbl 1,500,000& 1,500
=0 Xxe 29 102,360
Al 16,000
- 86,360
5 2= 1,500
A2 Y| 1,500
01 AtE222|Hl 1,500
ORANFES 1,500,000& 1,500
AXle oot 2,000
At bl 2,000
01 AtS22iHl 2,000
O=F0IXX /& 20,000 x20Z 53| 2,000
AxE TR0y 2y 22,000
Al 16,000
- 6,000
yre oy 5,000
Al 3,636
- 1,364
01 AtE222/H] 5,000
O=x2Xtxlg 2 5,000,000& 5,000
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SN 2HS
Ha: ZUKA OIY YSH(RBS)
o JHRGtD HFE SU BHSD 2 &)
_ _ _ N E
M« B2 - S2(3H) - MRAY - BaS arey e =
301 LLBAS 1,000 1,000 0
10 SALAHI 2 A2 1,000 1,000 0
OMS - 233 AF BOIX &6 1,000,000 1,000
ZoxeYA XY 2,325 2,325 0
Al 2,325
206 T2 2,305 2,305 0
Al 2,305
01 MHEH 2,305 2,305 0
OTtSgeict geiAte Wall 2,325,000 2,305
Al 2,325
HHSAAY (R S) 97,801 9,079 1,722
S| 57,505 67,503 ~9,998
Keg elz2g| 57,505 67,503 £9,998
101 Q1244| 44,245 43,515 730
01 B4 44,245 43,515 730
OAlte2R2Y 19,645
o53 9,796%! % 12427 Al 2h+ 122 %1.051 3,336
o623 8,31221 %1 +27 Al 2h* 122 1,051 2,831
o723 7,457 212 %27 \| 2hx 122 1,051 5,079
-83 6,68220 12 *27 Al 2tx 122 1,051 2,276
-9z 5,993 %324 x27 Al 2H* 122 %1.051 6,123
OF Al 130,0002 8 * 128 12,480
OInEI=ES] 12,120
o53 140,0002! 1 #1282 1,680
6273 130,000% +3% * 122 4,680
=83 0I5t 120,000 *3%4 « 122 4,320
oJls82~108 120,000 %12« 122 1,440
204 HeLBAY| 13,260 15,060 A 1,800
02 HZBEH| 13,260 13,260 0
OxZe =Yl 13,260
o53 250,000+ 1%+ 128 3,000
o632 55,0008+ 12 * 128 1,860
o723 140,00021 +2% +128 3,360
o82~93 105, 0002 %424 « 122 5,040
EEE 40,296 28,576 11,720
PIEE] 40,296 28,576 11,720
201 Y2 Y| 5,536 5,536 0
01 AtR2rel| 5,536 5,536 0
ORNM2Y JI248H 40,0002 +8% 3,520
OJ| 2248 I 7,008 *34 %88« 122 2,016
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2N RS
HE: FORX OB 2eH(EES)

ol A FME B8 x4 (et =3
S HE - CRI(EH) - HRAY - B 01 &t o8 e HlRE2
2= 180, 171 175,759 4,412

Al 18,275
- 161,896
FOXX DIEE Z23H(F=SS) 91,634 88,476 3,158
Al 18,275
- 73,359
HES FO0HEH &F =4 18,349 15,941 2,408
2E IMN2FE 18,349 15,941 2,408
201 LetEIH| 13,849 13,341 508
01 AtR22/H] 1,980 1,980 0
OYstztel 88 =2 165,000& x12& 1,980
02 2234l 11,869 11,361 508
o= 50,000& 123 600
OMIIR3 480,000& 128 5,760
Ot 150,000 «6 & 900
O0lEgXEEz 68,000 +1CH 68
(OFal—2= 0 Fa == 80, 000& *23] 160
OHESLNERLRES 223,2403 *13] 224
ORUMTEHIAIAE 23Hl 100,000 123 1,200
OACIETV =8l E 10,000& «12& 120
OdUss 977,000 977
OO0l E X=Xl 30,000& 123 360
OAd=K Xl 1,500,000& 1,500
401 Al&HI YL S OHYI 4,500 2,600 1,900
01 Al&H| 4,500 2,600 1,900
Osa =3 At 4,500,000& 4,500
FeXxzg 24 66,310 66,210 100
Al 16,000
- 50,310
ENF &5 1,500 1,400 100
201 ety 1,500 1,400 100
01 AtE22/Hl 1,500 1,400 100
OUZANFE 25 HEH 1,500,000& 1,500
FUXX g 4835 2,000 2,000 0
201 Yer2 Y| 2,000 2,000 0
01 AtE22/Hl 2,000 2,000 0
OFQUXNXAZE &S5 20,0008 »20E +52] 2,000
FLXXg Z20d 29 21,000 21,000 0
Al 16,000
- 5,000
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SN BES
M =0IKX J|et AsH(EA=ES)
SRl RG] ot™st SUl S| (cte- &
SA-HH O (SIH) - NEAY - BaS 0f Ao ad s HRZ2
0] & o8
ON= - 23HAF A A H| 1,000,000& 1,000
Fol sy & 2,275 2,275 0
Al 2,275
206 MM &Hl 2,275 1,275 1,000
Al 2,275
01 M=Hl 2,275 1,275 1,000
oed ME 7 2,275,000& 2,275
Al 2,275
HMSAAH (ZE=S) 88,537 87,283 1,254
ol 2 AL 51,673 62,279 A 10,606
ENE2Y =223 | 51,673 62,279 A 10,606
101 1A H| 39,673 39, 167 506
01 B 39,673 39, 167 506
OAZ2tIZ2 2+ 18,073
obhg 9,7963 *1H *27 Al 2tx12& x1.051 3,336
Y= 8,312 *1H x27 Al 2tx 122 x1.051 2,831
o7z 7,457 3 *2H x27 Al 2tx 128 x1.051 5,079
o8a 6,682% *3H *x27 Al 2tx12& x1.051 6,827
Od Mz A 130,000& *7H = 12& 10,920
Ons2 x| 10,680
obhg 140,000& x 1H =12 1,680
S == 130,000& x3H = 12& 4,680
o8=2~9= 120,000& x3H = 12& 4,320
204 X FaSHHH| 12,000 14,220 N2,220
02 Aga2XH| 12,000 12,420 AN420
(OF =1y 12,000
obh3 250,000& x 1 =128 3,000
Y= 155,000& x 1H 12 1,860
o7z 140,000& x2H = 12& 3,360
o8=~9=2 105,000 *3H x12& 3,780
JlE2&Hh| 36,864 25,004 11,860
N PAR =1 ]l 36,864 25,004 11,860
201 B3| 4,844 4,844 0
01 AtR22teldl 4,844 4,844 0
ORMEY JI2+8H| 440,000 *7H 3,080
OJI2g28 Z&H| 7,000 *34Ix7H x12& 1,764
202 (4| 20, 160 20,160 0
01 2| 20, 160 20,160 0
OJl2g2ae ol 240,000& x7H 12 20, 160
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2N HES
FE: FORXX Ol 2
Sl WIS FUIME B (el @)
SN HB -9 (3H) S sl e HlRE2
g2ExZs 177,417 167,163 10,254
Al 16,275
- 161,142
FORX DI8E 2SH(LES 85,491 79,880 5,611
Al 16,275
- 69,216
HES FOHEH &#F = 17,686 12,675 5,011
&2 HA2S 17,686 12,675 5,011
201 LetEIH| 13,186 12,675 511
01 AtR22/H] 3,978 3,978 0
OYstztel 88 =2 165,000& x12& 1,980
Oosdll 84 === 154,000& <128 1,848
OsZIl BIIBAMN =2 150,000& 150
02 =234l 9,208 8,697 511
ORBER= 50,000& *12& 600
OoMIIe3 250,000& x12& 3,000
O4ol=t 2= 120,000& «6& 720
OO0lEx E8= 68,000& «1CH 68
Oz= #gid 95,000& *22l 190
Od2 usse 249,400& *12] 250
(OE I FSPN L] 100,000& x12& 1,200
OoISTV== 8,800& 128 106
OAYotEE 3 48,000& *13] 48
OaUEs 1,166,000& 1,166
OO0I&X S Al 30,000& 128 360
OZz= SAldl 1,500,000& 1,500
401 Al&HI LR OHYI 4,500 0 4,500
01 Al&H| 4,500 0 4,500
OSA 28 &= 2 4,500,000& 4,500
=0 Xxe 29 60,830 60,730 100
Al 14,000
- 46,830
URANFE 2= 1,500 1,400 100
201 B3| 1,500 1,400 100
01 AtS 22/t 1,500 1,400 100
ORIZNF ¢ M3 1,500,000& 1,500
=0 AXl g 243t 2,000 2,000 0
201 et 2,000 2,000 0
01 AtS 22l 2,000 2,000 0
(O IPAPNE: ke k-l 20,000& x20H »53] 2,000
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M FORE DY LE(LES)
Sl JHRGHD ot SUIBHSD (S &)
_ _ pSNE e
M- E - S(3) - HRAY - BY2 Abou e HIRE
301 YstEAZ 3,200 2,700 500
04 THESLHH S 1,500 1,000 500
OXsgHua 2l 1,500,0008! 1,500
12 e Aa 1,700 1,700 0
OMOIS Zalgie 2at 1,700,0002! 1,700
=058 X9 1,000 1,000 0
301 B A 1,000 1,000 0
10 BAFAIH| 2 At 1,000 1,000 0
OHS - SetsAL R0IX AWl 1,000,000 1,000
Bl g wes X 2,275 2,275 0
Al 2,275
206 2| 2,275 2,275 0
Al 2,275
01 MZH 2,275 2,275 0
ogel Mal 2,275,000 2,275
Al 2,275
HHSYA (LES) 91,926 87,283 4,643
ol 2| 52,242 62,279 ~10,087
SN2Y o2 52,242 62,279 A10,037
101 QI2AH| 39,822 39,167 655
01 B 39,822 39, 167 655
ONZel2esy 18,102
o523 9,796 +12 %27 Al 2+* 128 *1.051 3,336
o632 8,31220 %124 x27 Al 2h+ 122 +1,051 2,831
o723 7, 4572 *3% 27 Al 2+* 122 %1051 7,618
o83 6,682 12 %27 Al 2+* 128 %1051 2,276
-0z 5,903 12 %27 Al 2+* 128 *1.051 2,041
OmuZ Al 130,0002 +72 * 128 10,920
ORELXH 10,800
o523 140,0008! 12 x 128 1,680
c63~73 130, 000! 42 128 6,240
-83~93 120,000 22 * 128 2,880
204 HPLAY| 12,420 14,220 A 1,800
02 HZR x| 12,420 12,420 0
OxZExY| 12,420
o523 250,000 %1%+ 122 3,000
o623 15,0008 12 « 128 1,860
o723 140,0002 +32 * 122 5,040
-83~93 105,000 x22 128 2,520
22| 39,684 25,004 14,680
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SN

=R PIPIEIETETEESE
SEE ZoIME 22 X4 (Etel:&e)
- - FSIEL
- H2A(AH) - NEAMY - BES &hoh Ofl At ot Hws2
AZIS 221,942 216,642 5,300
Al 18,325
2 203,617
= B ABHAF1S) 123,672 113,915 9,757
Al 18,325
= 105,347
FoIdE 82 X4 22,247 13,190 9,057
A2 22,247 13,190 9,057
201 Lere gl 13,247 13,190 57
01 At el 1,660 1,660 0
OFXE BY 242 130,000 12 1,560
OFXE HIIBA 22 100,000 100
zZzegl 11,587 11,530 57
oEaz 130,000 12 1,560
0OFIIQZ 400,000 12 4,800
04,5+ 223 250, 0002 +62 1,500
O0IEX 28E 68,0008 *1CH 68
OB SFMELLS 100,000 *23| 200
OSLFMNAH 828 100,000 * 12 1,200
O30l TV +ME 13,2002+ 122 159
OO0IEXt KX 25,0002 *2CH 122 600
02 || 1,500,000 1,500
L] 9,000 0 9,000
Al HI 9,000 0 9,000
OSAM R2l22( N -t
=) 9,000,000% 9,000
3l 29 94,100 93,850 250
Al 16,000
3 78,100
= 1,500 1,200 300
Uere | 1,500 1,200 300
01 At el 1,500 1,200 300
OUeAR 23 MBI 1,500,000 1,500
RXI5| & 3t 2,000 2,000 0
Usre | 2,000 2,000 0
AR 22| 2,000 2,000 0
OFIXAALS 3 g
20,0002 x20% %53 2,000
AxE 22y 29 21,000 21,000 0
Al 16,000
2 5,000
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L 9FIs
D ZEOITA| Olgt

ZeHEF1S)
DX 29

M- B2 o9 (3) - NRAY - B2 s e
cSH I T2 ° . [= Bl e =5 0:”/|l|,%
201 LBty 4,000 4,000
Al 3,000
- 1,000
01 AFR 22| 4,000 4,000
O=0lXtXlg 24 4,000,000& 4,000
Al 3,000
- 1,000
301 LEEAZ 12,500 12,500
Al 9,500
- 3,000
12 JIEtE2 43 12,500 12,500
O=F0XxIs 2% A=< 10,000,000& 10,000
Al 7,500
- 2,500
O=0IXXIal NHASAA A2 a
2,500,000& 2,500
Al 2,000
- 500
401 AM&HIL 2048 2,000 2,000
Al 1,500
- 500
01 Al&HI 2,000 2,000
OF0IXXIa 2 AMEE= 2,000,000 2,000
Al 1,500
- 500
405 Kot S| 2,500 2,500
Al 2,000
- 500
01 XL SEZFHSHI 2,500 2,500
OxoXtxlg 28 22+ 2,500,000& 2,500
Al 2,000
- 500
s - BHEN 29 69,600 69,650
301 et2a = 69,600 69,650
05 &-cl-EtEEs2as 69,600 69,650
OF=FS ey 65,600
oJlgx4 200,000& »20Y x12& 48,000
SR 200,000 20H 23| 8,000
o3| E AL 20,0003 x20H x23| 12 9,600
OgtdE =4 25,0003 80 *23| 4,000
JiRZot) etMEt sUl S| 7,325 6,875
Al 2,325
- 5,000
Z&t Ot=8d =4 500 550
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rc
0
ol
02
0 4y

_ _ _ N E
M- F= - S2(3H) - MRAY - BES Abod e =%
201 Ysre | 500 550 A50
01 At2elt| 500 550 A50
O=ples x18 500,000 500
I - MY gls 012 2R 3,500 3,000 500
301 Lereaz 3,500 3,000 500
04 AtELHHISSY 1,500 1,000 500
OXsSgHUe 29y 1,500,0008! 1,500
12 JIEtR A2 2,000 2,000 0
OMOIZ ot 2,000,000 2,000
=05 Ex 1,000 1,000 0
301 LerE Az 1,000 1,000 0
10 #AAH 23 1,000 1,000 0
OMS - 28t At ZOIR Al 1,000,008 1,000
zoixswes X8 2,325 2,325 0
Al 2,325
206 THE U 2,325 2,325 0
Al 2,325
01 el 2,325 2,325 0
OEI=IVEL 2,325,000} 2,325
Al 2,325
HH2HAU(LF1S) 98,270 102,727 N4,457
ol 2yl 57,974 74,151 16,177
SNEY clHe | 57,974 74,151 A 16,177
101 2124t 44,714 48,903 A4, 189
01 2= 44,714 48,903 £4,189
OANZel2esy 20,114
o53 9,796 * 12 #27 Al 2h% 122 %1051 3,336
o623 8,312 %1227 Al 2+ 122 *1.051 2,831
o723 7, 45721 %224 %27 Al 2b+ 122+ 1,051 5,079
o83 6,6822 x32§ %27 Al 2H+ 122+ 1,051 6,827
°93 5,993%! * 1 #27 Al 2b+ 122 %1051 2,041
OB AT A 130,0002 +8% x 128 12,480
ORE2 X 12,120
o53 140,000 * 14 x 128 1,680
c62-72 130,0002 *3% * 128 4,680
-82-~02 120, 0009 42 128 5,760
204 A @482 13,260 16,320 A3,060
02 HZEEH| 13,260 14,520 A 1,260
OzZzE x| 13,260
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SN YFEIS
BH: HSEAY(YFIS)
chel: ol 2ot (cel @
DA HB L CP(E) - HRAY - BAS Ak Soe s
obg 250,000 x1H «12& 3,000
SU= 155,000 x1H +12& 1,860
o7s 140,000& x2H »12& 3,360
=8=2~95 105,000 «4H «12& 5,040
|l=3H 40,296 28,576 11,720
MIl2ZHl 40,296 28,576 11,720
201 LBt A 5,536 5,536 0
01 AtS 22/l 5,536 5,536 0
OFMA2ZE JIE2=2H| 440,000& 8% 3,520
OJl2ge+8 ==l 7,000 x8H*34«12& 2,016
202 O4Hl 23,040 23,040 0
01 =LA bl 23,040 23,040 0
OJl=g =30t 240,000 x8H 12 23,040
203 HRF&H| 9,920 0 9,920
01 JI22IHRF8| 6,600 0 6,600
os& 6,600,000& x1H 6,600
02 ZFRIAHSF=EIH| 320 0 320
OX & A& & 40,0003 »84H 320
04 FN2ILRFAHI 3,000 0 3,000
ORNMZE2H 250,000& <128 3,000
204 XA 1,800 0 1,800
01 Mg PR 1,800 0 1,800
ONBZ Y243 Fy| 1,800
obhgm (I AH 150,000 x1H « 122 1,800
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fA: 2=
PSS FX D18 2sH(EF0S)
ool ZOIHIE 82 (et &2
HH . (3 H) - MBEAY - B Ao dd = HRS2
O & 04
A2 251,304 259,985 A8,681
Al 20,325
- 230,979
= et 23 HEF2s) 141,847 151,845 A9,998
Al 20,325
- 121,522
F=0IME &8 X 18,522 16,020 2,502
StEAI2H 18,522 16,020 2,502
201 B3| 16,322 16,020 302
01 AtR22tell 1,470 1,470 0
Osd) 88 =& 110,000 »12& 1,320
Os2D| HIIEAN =22 150, 000& 150
S3S29Hh| 14,852 14,550 302
ORERZ 220,000& x12& 2,640
(@rSPIETE=; 600,000& x12& 7,200
OH . ot=ER3 80,000& x6& 480
OXS XA 60,0003 = 1CH 60
OXsxEsga 396,000& = 1CH 396
OO0IEXEg = 68,000& *x2CH 136
ONsSIEEMEREES 55,000& 23] 110
OHEEHMNEREE = 35,000& *23| 70
OROINE I H|AIAE 100,000& *12& 1,200
O3EX 7Xd 100,000& *12& 1,200
O0l&X =XId 30,000& x1CH=12& 360
Od=2 ®Ab| 1,000,000& 1,000
A&EBIYL 2] 2,200 0 2,200
INE=1s] 2,200 0 2,200
OFo=sXzE 827 4X 1,200,000& 1,200
OsZllz%2l 1,000,000& 1,000
FOIXXIE 29 116,000 128,900 A 12,900
Al 18,000
- 98,000
g2 Y= 1,850 1,250 600
282 A 1,500 1,250 250
01 At Zeltl 1,500 1,250 250
OblANE &= MBHI 1,500,000& 1,500
405 KHAHFE S 350 0 350
01 MM 2EF = 350 0 350
oolzEX 222 013w F+
350,000& = 1CH 350
X3 2435 2,500 16,000 A 13,500
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SN YE2S
HMH: FOITR JIE Y
ool ZOINEIE 29

s

FAH-FH-SASA) - NRAE - BE=Z &hoh g
e cSH I T2 ° _I_ [= Bl e (] 04”:"%
201 LEH2HH| 2,500 2,500
01 AtE22/Hl 2,500 2,500
(OES=IDAPN 20,0003 x25H x53] 2,500
=0 AXe Z2)H 24,000 24,000
Al 18,000
- 6,000
201 LetEIH| 4,000 4,000
Al 3,000
- 1,000
01 AtSR22/Hl 4,000 4,000
O XXl =24 4,000,000& 4,000
Al 3,000
- 1,000
301 EtE2A = 18,000 18,000
Al 13,500
- 4,500
12 JIEtEA S 18,000 18,000
(OESEIPNIN 15,000,000& 15,000
Al 11,250
- 3,750
O=0IXtxl 3 HIE &
3,000,000& 3,000
Al 2,250
- 750
405 KH&HFESHI 2,000 2,000
Al 1,500
- 500
01 MMMHL=ESHEH 2,000 2,000
OFgXxs 28 =57 2,000,000& 2,000
Al 1,500
- 500
SEEM =22 87,650 87,650
301 Yereaa 87,650 87,650
05 S-cl-EEs243 87,650 87,650
Os&=¢ 82,000
ollgx=g 200,000& «25H «12& 60,000
cal= 200, 000& #25H »23] 10,000
o3| o &MY 20,0003 x25H »23| x 122 12,000
Oogtd =4 25,0003 113 »23| 5,650
WBotn ot =Y 7,325 6,925
Al 2,325
- 5,000
HZsiisEd X 500 600
201 Y2y 500 600
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SN @Fes

M FOUXX D8 2P F2S)
&l JiR2otd etdE sUHl S| (ctel: &
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
01 AtR 22/t 500 600 A 100
O=USSsFUES 500,000& 500
HA HFHU=0IS ORI 3,500 3,000 500
301 LertEas 3,500 3,000 500
04 TtELHUHIA2HHI 1,500 1,000 500
OltsgHiIA2EH 1,500,000& 1,500
12 JIEtE2 4= 2,000 2,000 0
OMOtSgaiiasy 2,000,000& 2,000
=0 AA 1,000 1,000 0
301 EtEN = 1,000 1,000 0
10 SEAAHIBEAS 1,000 1,000 0
OHM= - St A S0 A &H| 1,000,000& 1,000
FUNSYAHTA 2,325 2,325 0
Al 2,325
201 Let2dH| 200 0 200
Al 200
01 AtS 22l 200 0 200
O g¢HII==2ltl 200,000& 200
Al 200
206 M= dl 2,125 1,525 600
Al 2,125
01 Mz bl 2,125 1,525 600
O g9%sE s 2,125,000& 2,125
Al 2,125
HY2AHH(IF28) 109,457 108, 140 1,317
ol 2| 65,549 75,992 210,443
FAN2Z E2EHI 65,549 75,992 A~ 10,443
101 Q14| 50,429 49,868 561
01 = 50,429 49,868 561
OAte 2R+ 22,709
obg 9,796 x 127 Al 2k * 123 x 1,051 3,336
SI= 8,312 x2H 27 Al 2k x 123 x 1,051 5,661
o7g 7,457 3 x2F+27 AN 2hx 128 +1.051 5,079
=8 6,682 x2H+27 Al 2+ 12 x1.051 4,551
=9 5,993 x2H +27 Al 2Hx 123 x1.051 4,082
OZ M gAHI 130,000& 9 « 123 14,040
Ousg2=Hl 13,680
=bg 140,000 x1E « 122 1,680
ofE~Ta 130,000& 3 122 4,680
=8=2~9= 120,000& x4 H + 12 5,760
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SN gFes
M S AR (YF2S)
cHel: ol oy| (et &2
SN S(B) - NRAY - B2 Aro e =2
oJls6a 130,000 x1H « 122 1,560
204 E @3 15,120 17,160 A2,040
02 =2 x| 15,120 15,360 240
O=ZEXEH| 15,120
obg 250,000& x1H~ 123 3,000
S= 155,000 x2H 122 3,720
o7g 140,000& »2H «12& 3,360
=8=2~9= 105,000& x4 H « 122 5,040
=&l 43,908 32,148 11,760
FMII2ZHI 43,908 32,148 11,760
201 Let2d| 6,228 6,228 0
01 AFR 22l 6,228 6,228 0
ORM2ZINEa+EHI 440,000& 9% 3,960
OJl=gdf=d8g &l 252,000& 9% 2,268
202 O4Hl 25,920 25,920 0
01 =Wl 25,920 25,920 0
OJl=2gf=d0tl 240,000& 9 123 25,920
203 HRF&HI 9,960 0 9,960
01 J|22SHFRF=&HI 6,600 0 6,600
os& 6,600,000& «1H 6,600
02 FJANMAHRFAHI 360 0 360
OZ& A A& = 40,000& x9H 360
04 BEASSEHFFEHI 3,000 0 3,000
ORNMZE2Y 250,000& «12& 3,000
204 MR AH| 1,800 0 1,800
01 Mg HPHAH| 1,800 0 1,800
CEPER-ERSTE 1,800
o5z (I & 150,000& x1H«12& 1,800
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